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Question Number : 1 Question Id : 5244763601 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

_i9
I 4= - satisfies the matrix equation 4° - k4 + 27 = 0 _ then what is the

value of k?

A= jl 2| @R 42— ka4 21~ 0 357998 DEBET)

D05 YNDODILONS, @) IEH k D

Options :
L
1. #

2. 1
2. ¥

3 2



=
(L

Question Number : 2 Question Id : 5244763602 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The system of equation

2x+y=3

x—3y=—1 1s consistent, whenk 1s

3x+4y=k
2xty =5

DNEBED H59P x—3y=-1 VSO HOENOS,
3x+4y=k

K= €5 o) )C.

Options :

LB 1

B
3 O



4.9

Question Number : 3 Question Id : 5244763603 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Let A beann x nmatrix and 4° —34° +44—67 =0 where 7 is n X n unit matrix. If
A7 exist then

ADS nxn X058 QBOD 42342 +44-61=0 S TOIA n x n AT
3551¢35 ) @00, €Y

Options :

[, At=A—]
1. ®

2. Al=A+6I
2. %

3. A1=3A-6I

4. A= (1/6) (A? —3A +4I)

Question Number : 4 Question Id : 5244763604 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If w be a subspace of a finite dimensional vector space V(F). then dim v/w 1s equal to
W O 28 DB BRIV TEE )R V(F) B3nE), 02500 ©0ns, dim viw
50 QATO0.




Options :

l. dimv-dmw
1. ¢

. 2. dimv+dmw

2.
dimv
B
s dimw
\ 4. dim v xdim w

Question Number : 5 Question Id : 5244763605 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If (m. 3. 1) is a linear combination of vectors (3.2.1) and (2,1,0) in R? then the value of m
1S

m, 3, 1) O R3S IEB) (3.2,1) BAM (2,1,0) DS EHonE ©ons m
N

Options :
I U

1. ®

2.8
4 3



Question Number : 6 Question Id : 5244763606 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

I[f Mi1sa7x 5 matrix of rank 3 and N 1s a 5 x 7 matrix of rank 5, then rank (MN) 1s
M @I 07508 3 AB0EY 7 x 5 (38 HB8ASW N @0 or50S 5 B0

5x 7 Sredyd @ons, o505 (MN)

Options :
1. 5
1. %
2 3
2.9
3 2
3. %
Lol

Question Number : 7 Question Id : 5244763607 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The Eigen values of the matrix

4 -2
are
=
53°51¢38 ) = B E), HRBS DEeNdEN .
L4
L2 (L2
L3 (03)

. 4. cannot be determuned

Question Number : 8 Question Id : 5244763608 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Dimension of the vector space C over R 1s
30 VIR C BBy H8SE0 R S0T)

Options :



1. ¢

L w 2.1
L300
4.%4. o0

Question Number : 9 Question Id : 5244763609 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The Eigen values of a skew-symmetric matrix are
R203-00( ¢35 35°5(¢35 ) BnE) SRS Denden
Options :
1. always zero

D) )C-® ")

2. always pure imaginary

DD IEF D 5D S ERI 550

-

3. either zero or pure imaginary

OD®) B D SO €rsTred 180

3.¢¥



4. always real.

D) YT PRI

Question Number : 10 Question Id : 5244763610 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct statement

DB (088K dotwEod

Options :

1. Every subset of linearly independent set 1s linearly independent

BDOKH D550 DM TZNE), (D EHIME HES & ceboborrT
€OLNOL

2. Every superset of linearly independent set 1s linearly independent

OJHEO BOBDOBOE S’ (HS IFHEE OJAHET
D 550(HOMT GOV OO

'y

Every subset of linearly dependent set 1s linearly dependent

DAHET FD0BOES VEESD DB HS5 ¢ OOHE
. QROTO GOLVOD



4. Every subset of linearly dependent set 1s linearly independent

DACHET FDO0BOE DES' (HB HBVE OJAHET™
D 550(SHOM 5OLNOE

Question Number : 11 Question Id : 5244763611 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following statement 1s correct?

208 REROE DS DE OBIE?

Options :

1. There is no vector space of dimension

BRI ANEY IO VY S

2. Any 3 vectors of a vector sp*u_,e of dimension 3 are linearly mndependent.
TV 3 BWE) T8 )0 BwE) T 3 I35 ) SSForr
D 5e50(Som n%oéym.

3. There 1s one and only one basis of a vector space of finite dimension.

DO HOIT0 Ko JEB IV8 23 2.8 8rB0 &od.

3. %



4. If a non-zero vector space v 1s generated by a finite set S, then V can be
generated by a linearly independent subset of S.

0T 57 ITB DIV v 2.8 DONeh D S &3° sT° eoedh e
DONDRB, S ABWEY ABF S50 EdDaDEd &3°SO° V
DIROTIVCD 0.

Question Number : 12 Question Id : 5244763612 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Given the vectors v, =(1,3,1), vi =(1,0,1), v3=(3,2,1) applying Gram-Schmidt
process another vector wsz orthogonal to the vectors vi and v3 1s
DI IE6I vs = (1,3,1), vi = (1,0,1), va = (3,2,1) & (ITRN-2BD
SBONER), Vi HBAW v; ITBOH SERIST &) HFE 386 w;

Options :
L (10:0)
. 2. (LLD

. 3. (LOo-D)

3.

d (1D

4.



Question Number : 13 Question Id : 5244763613 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

2 3 4
[et A=|0 5 6| then
0 g ¥
2 3
A=|0 5 6@V
0 O
Options :

1. 4 is diagonalizable but not 4°
A DEQEBOTINIE 5°Q) A2 5%

2. A4’ is diagonalizable but not 4 .

A2 DESEBONBBAIE 2 A ¢

-

3. Both 4 and 4 are diagonalizable.

BOT A DB A2 DEBEBOBBRID.

3.¢¥



4. Neither 4 nor 4 is diagonalizable.

A 52 B0 A2 2 DEBEBOBIBAIE .

Question Number : 14 Question Id : 5244763614 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If A is 3 x 3 real matrix that satisfies 4> =4 then

A T 3x3ABRS 35°5(1¢35 ) @onSB @& £ =4 J0hyR
DO, @D

Options :
1. A 1s diagonalizable

L, A OIS DEQEBONBBAIE
2. A cannot be diagonalizable

L ADEREB0OGN

3. A i1s Invertible.

A 38 93558200



4. The Characteristic polynomial of A 1s different from 1ts minimal
polynomial.

A Q08 08,29 22TV0E TP S 226300 DO 2)) O
e CEODOL

Question Number : 15 Question Id : 5244763615 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The set (¢*,¢"), x< & is

_?'\)es (E?:'T.._El\{)., v e R

Options :

1. linearly independent over R

R 0T SEFomr O eH0|horT &0enod

2. linearly dependent over R

R 3 BDONOMT &853G S0enod

3. linearly independent over any internal (a.b) only when 0 ¢ (a.5)

02 (a.5) BN ST, DTV ©0eHDeH (a.b) DAFOrr
550\ SO 50N OE.

3.¢



4. none of the above.

DI 50

Question Number : 16 Question Id : 5244763616 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

|~

In an Inner product vector space, u & v belong to an orthonormal set, thenm
U+

1S

éégS PSS BFE DN, u HOBW v 28 88 TES ESE

2[0HOI]. o =]

ot + |
Options :
I
2
2.% 7 2
L 3.0



Question Number : 17 Question Id : 5244763617 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Let R* be the 2 dimensional real vector space over R.
T:R’> — R’ defined by
T(a,b)=(2a—-3b,a+4b) 1s
R2OSO R D 2 BRIVIO 8aAHO IEE )0 ®owns.
T:R* > R QELDODDRB  T(a,b)=(2a—13b,a+4b)

Options :

1. Not a linear transformation

DO D8IV 5°¢%

2. A linear transformation

2,8 QBF HBHAS

2.¥

s

Not a 1-1 homomorphism

-1 SR R0Pa00r8 Y230 5260

4. T does not exist

Le TTEQES Bk

Question Number : 18 Question Id : 5244763618 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0

4 3
The value of j.j(.rl +)dxdy 18
0-1

:[1 j (x> + y)dxdy O30EY DN

Options :
. =
__ 3
1. ®
100
e
__ 3
2. %
208
s T
3.¢
116
4 —
3
4, %

Question Number : 19 Question Id : 5244763619 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :

N.A Think Time : N.A Minimum Instruction Time : 0



The gradient of ¢ at(1,0,0) when ¢=x>+y—-z—-1 1is
p=x"+y—2—1 @ONI)D (1,0,0) SO &) ¢ (Ddeaed

Options :

2. ¢

3. i+ j+ k
3. %

4. i+ -k
4. %

Question Number : 20 Question Id : 5244763620 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The value of constant ‘a’ for Av=0 when v=3xi+(x+v)j—azk is
v=3xi+(x+1)j—azk ONSINE Av=06 "a' Dend |

Options :

L. 2

1. %



2. %
o | -3
3. 3
3. %
v 4. 4

Question Number : 21 Question Id : 5244763621 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

e’ :

dxdy 1s equal to

1%

»

Using changing the order of integration, ”
0 x

D885 (337 S8 )0 &HTrHoD, ﬁidmﬁ- S
e

Options :

1. O
1. ®
o2 1

3. .
3. %

4. -1



Question Number : 22 Question Id : 5244763622 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The value of j j(:rz +y?)dxdy 1s

—q —8

j ji(:r2 +32)dxdy Q€D

—a—h

Options :

iab(az +5%)
. 3

1.
iab(az—hz)
Y 3
2. ®
b ¥ b |
L (@ +bY)
3. % 3. -

@({?2 _sz
4 3

Question Number : 23 Question Id : 5244763623 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0
Let 7 =xi +yj+zk and r=|F|. Then Vlog(r)=

F=xi +3j+2zk DO 7 =|F|. ©ONS Viog(r)=7?
Options :

2. % :
|
3 —3
3. % é
4. ¥
4. %

Question Number : 24 Question Id : 5244763624 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The Gauss divergence theorem converts
TR BB VFOH0 DA B )ED0E?

Options :



1. Line to surface integral

B NOG &IBBe ROL3KO

2. Line to volume integral

B N T YOE3NS

-

3. Surface to line integral

&D0BH0 NGB B KOO

4. Surface to volume integral

&DOBHO0 O T QOO

4. ¢

Question Number : 25 Question Id : 5244763625 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

th

The generator of the cyclic group of n™ roots of unity 1s

0855 AINE) 1S SoFered, LB DT By 23308 .

Options :



2. g
). %
Sxi
3. e
3. %
4. e
4. %

Question Number : 26 Question Id : 5244763626 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Let G be a group of order 49, then

G 838 49 BE) SFT0 oD

Options :

1. Gis abelian

G 2,8 23000

1. ¢

2. Giscyclic

G @3 HIEOHDIE



-

3. G 1s not abelian

G 923000 520

4. centre of G has order 7.

G 0&SseS 888 7

Question Number : 27 Question Id : 5244763627 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If a and a” are both generators of a cyclic group of order n, then

a HBASW a2 BOCHT n @38 TBE) TIEAN DT T3NEY,
2333 ONS, ) )CH

Options :

1. n must be odd

n )BT BIM &oEd

2. n must be even

n €50 )R QBT DAFPSOT &0z

-

3. n must be prime
N €50 RO [ AN GOTS)



4. n must not be prime

n €0 )R ET (OG0 SN

Question Number : 28 Question Id : 5244763628 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0
123456].

1S

The inverse of 4 :[ |
345621

A:[”””] F0E) DESTHE0
345621

Options :
(123456)
.
651234

1Lv
345126
> )
123456

2. %



123456
3.
126543

123456
; )
124365

4. ®
Question Number : 29 Question Id : 5244763629 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If aeG and o(a)=n and a”" =e then

aeG &GO, o(a)=n NBON a” =e LONS )L .

Options :
1. nis divisor of m

n ©JE m ABNE) 2772380

1. v

2. mis divisor of n

m @38 n A30Y), 2380



-

3. misremainder of n

m IO n BNE) FNO

4. none of the above

s 5D

Question Number : 30 Question Id : 5244763630 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Let H and K are the subgroups of order 3 and 5 respectively. If o(G) =15 then

H 308050 K B0 @308 3 o080 5 A30E), & Dodrsdde.
o(G) =15 0N

Options :

1. H K #4e}
1. ®

2. HriikK— {&!
2. ¢

3.H~nK=H
3. %

4 HnK=K
4.%



Question Number : 31 Question Id : 5244763631 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements are not correct?

208 REROG DS DA HBIE °¢0?

Options :
1. Any group of prime order can have a proper subgroup.
200 e898 WBWE) DB DoTT0 DB 5 Dorar*R) O
GOtV OR.

2. The order of a subgroup divides the order of group(finite).
o0 VoTe0”0 ANEY 1ZD0 DT (28a0D) (537
D520,

Any finite group of order n 1s 1somorphic to permutation group of
degree n.

DB DB DT ($e00 n T A|H n AB30EY, (DTS
QD08 DA I28)S5.

tad

4. Kernal of a homomorphic function i1s normal subgroup.

VU )NE P0ES BwE) BE) O PGB Ed DoddI°O.



Question Number : 32 Question Id : 5244763632 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
N.A Think Time : N.A Minimum Instruction Time : 0

Let S3 be the symmetric group on 3 symbols. Then order of Sz 1.e. 0(S3) 15

S; @A 3 V) O DoNBTD DedTsT0. @) I)EH S3 ($H0 @OT
D(Sa) = :

Options :
1. 6
1. v
2. 3
2. %
3. d
3. %
A 9
4, %

Question Number : 33 Question Id : 5244763633 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following 1s an even permutation?

808 ¢3S OO (DB DE?

Options :

L (123) (1.2



2. {13:5)@H
3. (1,2,.4) 3.5)

4. (23.4)(3.9)

Question Number : 34 Question Id : 5244763634 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If O(G)=P where P 1s a prime number, then group G 1s
P (D57 QoS 900 O(G)=P o0&, G (5770
Options :

1. cyclic and abelian

LHBA%H DB 0BOONS

2. cyclic but not abelian

HIBON, 5 ©BOANS 520

3. Abelian but not cyclic

©BOOHNS, Q) HEH 52



4. neither cyclic nor abelian.

088 Sor 9BDOHS 5.

Question Number : 35 Question Id : 5244763635 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Let G be a cyclic group of order 24, then there exists a subgroup of order
G @O 88 24 BE) VEAD AFIT0 ONS, & &) B
DNF0 AE) esOE

Options :

B
1. %
2.332‘ 5
3.\'/:" 6

4.7
4, %

Question Number : 36 Question Id : 5244763636 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If H 1s a subgroup of a finite group G. Then

H @38 DO Q70 G B0E) 58 DTS00 90N .



1. O(H) 1s a divisor of O(G)
~ O(H) IO O(G) BWE), 237580
2. O(G) 1s a divisor of O(H)
0(G) @I O(H) BwE), 23380

3. O(H) 1s not a divisor of O(G)
O(H) @38 O(G) A30E), 23KFB0 5°¢%0

4. O(G) 1s not a divisor of O(H)
0O(G) @A O(H) A3NE), 27KI*B0 5°¢0

Question Number : 37 Question Id : 5244763637 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If H 1s a subgroup of G and N 1s a normal subgroup of G, then

H @003 G A3WE), & DTT0 D805 N @9 G AB3nE), re>rded
€580 odT°0, €95)) )CR

Options :



l. HnN 1sasubgroup of G
. HAN,G O30E) €560 oddFa°0
2. HUN 1sasubgroup of G
HUN ., G O38E) €520 QodTa0°O

3. H~ N 1s anormal subgroup of G
HAN,G BWE) PO 50 eddIa0”O

4. H N 1s anormal subgroup of G

HUN,G Q308 PeO£9 €500 QQaddIor°O

Question Number : 38 Question Id : 5244763638 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In an Euclidean ring, any element 1s a unit if

A8 R0HS B8ORS, BT 0TrE0 2.8 AATIE DI 9)S0E?

. Lod(@)=0

L 2. d(a) >0



3. d(a)= =

3. %

4. d(a)=d(1)

4.4

Question Number : 39 Question Id : 5244763639 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In the field (z,,+,.x,) the multiplicative mverse of 3 1s

Z,.4,.%,) DD, 3 B0EY HEITE DS WO .

Options :

L 2

1. %
s
2. 8 2 &
3. 4

3. %
3 -
. -

Question Number : 40 Question Id : 5244763640 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Zero divisors means for every a,b € R

28 33235 ©0T) (D3 a, b ER DA

Options :

1. a=0suchthatab =0
a=00T ab=0

2. a#0,b# 0suchthatab =0
., a?0.b#0 ©0T) ab=0

3. a#0,b=0suchthatab =0
a20,b=0 @OT) ab=0

4. None of the above

EoR S ey

Question Number : 41 Question Id : 5244763641 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If R = R’is ahomomorphism of rings with identity. Then fis 1-1 if
fR >R @30 H00HE ErBS SOOI T30 )230. €050
f1-1 936

Options :



1. ker {0}

2. ker £+£(0)

3. kerf ={1} where 1 is identity of R
ker £ ={1} 1 NI R B0E) 0TOE3ES

3.¢¥

4. ker f={1'}.where ' is identity of R’
ker £={1'}, 1’ @03 R’ BwE) 03033

Question Number : 42 Question Id : 5244763642 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The characteristic of a finite field can be

DB T (50 gy & 0

Options :

1. 6
1. %

2. 8
2. %

3. 0



Question Number : 43 Question Id : 5244763643 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

There exist a field having
EOA &) 3 (50 &od
Options :
1. 18 elements
. 18 ®07e

2. 50 elements

L« 50 @07
3. 512 elements
3 512 @037

4. 1000 elements
1000 sDTEOZ e

Question Number : 44 Question Id : 5244763644 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The ideal 4=(a,) 1s maximal 1deal of the ring R, then

&880 80N R T30EY (10 &350 4=(a,). @)D

Options :

. A=R
1. ®

27 A#R
2. %

3. a, 1s a prime element of R

R Q30 8) (005° @030 a,

3.¢¥

4. a, 1s not a prime element of R

R Q308); |10 @©0F0 a, 5D

Question Number : 45 Question Id : 5244763645 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement 1s false.

208 (DELIDOS DA D).

Options :



1. A finite integral domain 1s a field

5O DD EDS 2.8 DO
2. A field 1s a commutative ring
DO 0T E305Tre3S 8ok
3. A field 1s an integral domain
L DD 38 2.8 S FDS

4. Any mtegral domain 1s a field

BT S ES 2.8 O

4.

Question Number : 46 Question Id : 5244763646 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The integral domain of which cardinality 1s not possible.
$8TOES F550 5 SN ES

Options :
1. 3

1. ®

()
@)

2. ¥



Question Number : 47 Question Id : 5244763647 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A:Fisa field

B: F 1s an integral domain
A:F OIS 2.8 DO
B: F 2,8 Qo &0

Options :
l. A=>B
1. v
2. B=ypd
2. %
.3 4©B
4. B A4
4, %

Question Number : 48 Question Id : 5244763648 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0

The characteristic of the ring of even integer 1s

DO P00 AT Boh A3NE) @8 .80

Options :

1. =2
1. ®

9
. x 2 1

%, M}
3.

4. none
4, %

Question Number : 49 Question Id : 5244763649 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The set of all limit points of the (% X € (1,1)] m R 1s
X+

[ - :XE(—L'I)J BE), Q) HBE TFoNOL OSBRSS

x+1
Options :

1. [1,%)

1. ¢



2. (1, )

2.

L3 [1]
4. [-1, ®)

4, %

Question Number : 50 Question Id : 5244763650 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A non-empty set of real numbers which 1s bounded below has

B%S HBTNS’ & &) 7S Jow e 77 52 HAE £Of
GOCOO

Options :

L. LAIB

1. ®

2. GLB

2. ¢

. upper bound
DS HBIED

fad

4. no lower bound

5302, DB BN



Question Number : 51 Question Id : 5244763651 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If x and y are two real numbers with x > 0, then there exists a positive iteger
‘n” such that

X DB v, X > 065 BOK TS HOWEEN BONS, O J*T°0%0 n’
&2 1808 QODNO FEINOE.

Options :
l. nx>y
1. ¢ )
2 DX < ¥
2. &
3. nx=y
3. %

4. none of these

) ola) 5o

Question Number : 52 Question Id : 5244763652 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



I[fxeS anon-empty set of real numbers then
e85 28D 3AS Sowse 9 Q) DE OB _
Options :

l. mfx=supx
2. mfx=-sup (-x)
3. nf x = sup(-x)

4. mfx = - sup(x)

Question Number : 53 Question Id : 5244763653 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A: Between two real numbers, there 1s an integer
B: Between two real numbers. there 1s a rational number.

A: BOCR PR QOWES NS, 208 J*T° 080 S&OLNOA
B: BOR QD Qo5 DS, 208 5200 HOW S SH0LNOR.

Options :



1. Both A and B are true
A O B BOC® V230

2. Both A and B are false

A O3 B BOT ¢5)
3. A alone i1s true
. A Ao

4. B alone 1s true

B 2,5, d230

4. v

Question Number : 54 Question Id : 5244763654 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If sequence (a,)  1s convergent then it 1s necessarily

DB (a,)7,, 8X5B0E onS @& $H )OO &S00S
1. bounded
HOVS oA



2. unbounded

OB

3. decreasing

SHNS0E

4. none of these.

DS’ O B,

Question Number : 55 Question Id : 5244763655 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If sequence (a, ); converges to A and the sequence (5, ]: converges to B

with a, <b, for all n, then
@A) n VeSO a, <b, S (a,)", DTS A § AW (5,)",
V2.8 ) B & EenNoT, @09

Options :

1. A4<B
1. v

2 A==5B

2. 8



3 A>B

3. %

4. none of these

DS A S.

Question Number : 56 Question Id : 5244763656 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

: <o | -
The series ) —is converges, if
/o

3L 280 §T50 D) e09e06?.

.IJ=”-J
Options :
1. ®

9 J_U“'_:l
2.8 =

3. B=l
3. %

> |

4. &+ 4 P

Question Number : 57 Question Id : 5244763657 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The sequence [i] 18

1n

80 {lJ
n

1. unbounded and convergent

295085 AW eoonsd

2. bounded and convergent

DB BA8 835 B0

2. ¢

L)

bounded and divergent

HEIFED ZHET S BOSE

4. unbounded and divergent

29085 DBAW D) VOIS

Question Number : 58 Question Id : 5244763658 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



i .I.

lim z

n—» = 3n+k

1S

Options :
4
1 logg
1LV
3
2. log—
2. % _I-
3
3. log —
3. % 2
5
4. log —
4. % 4

Question Number : 59 Question Id : 5244763659 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



A: sequence (an) 1s convergent
B: sequence (by) 1s bounded

A: 1800 (an) 355808

B: (800 (by) 08aed 0

Options :

l. A=8
1.¢¥

2., B>l
2. %

3. ASB
3. %

4. none 1s true

DO 230 5D

Question Number : 60 Question Id : 5244763660 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A: Cauchy sequence 1s convergent in R
B: Cauchy sequence 1s bounded in R

AT JBUSIR S E3¢308
B: T DBUSIR S 27°0& DOHDE0E



Options :
1. A and B both are true
A DO B DO 0230

1. ¥

2. A 1s false

. A IO )
3. B is false
L D8

4. A and B both are false
A DB B BOC® €9)

Question Number : 61 Question Id : 5244763661 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The value ‘¢’ of Rolle’s theorem for the function f(x) =sinx 1n [0.7] 1s given by
0,7] S f(x) =sinx HO0E.S 0 TS &) DT050 & ¢’ Nensd
R SDBOA.

Options :



1. ® 3
» X
2. % 6
R T
3. —
3. 2
4 0
4. %

Question Number : 62 Question Id : 5244763662 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The value ‘¢’ of Langrange’s mean value theorem for

f(x) =x(x-1) in [1,2] 1s given by
[1,2] & f(x) =x(x-1) D0ES &0 ero(ffozs T3y SEed Dexnd
DT°050 ¢ ‘¢’ Dendd 25 22308,

Options :

l.

| n



5 3

Lo E
2.¢

. g

3. ==
3. % 4

g U
4, % 6

Question Number : 63 Question Id : 5244763663 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

An example of a function on the real line that 1s contmuous but not uniformly
continuous, 1s

BAHO B AB0SHT OO SR VEEBT QB0SB0MT GO 208

DOE S8 G069,
Options :
|
[ x
1. ®
2_ X



Question Number : 64 Question Id : 5244763664 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If 7'(x) existand 1s monotonic on (a.b), then

£(x) B0 DBAW (a.b) D VTS ETVT SOTY, @

Options :

l.  f'1s continuous on (a,b)

ab)D 1 QB0SSOT GoLNOO

2. f'1s discontinuous on (a.b)

@b /' DB0STOHOMT &oeNOd

-

3. £’ 1s constant

7 VB0 &OLNOE



4. None of these

DeE3S” A S

Question Number : 65 Question Id : 5244763665 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Given sequence (a,) converges ‘I’ then
(@)D ADIS DBLSY, T DR @0

Options :

1. Some subsequence of (a,)converges to ‘I’

(a) B30E) o &I DILS) T & EenNod

2. Every subsequence of (a,)converges to ‘I’

(a,) BNEY 10 &D DBIS) T 8 EenNod

2.¢¥

3. No subsequence of (a,)converges to ‘I’

(@) BNEY & & DBLD) e T 8 5.



4. All the subsequences of (a,) 1s bounded
(a.) B0E) Q) & VTLS) o0 D22 Sotraw.

Question Number : 66 Question Id : 5244763666 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

f(x)=xon[0,l]and p= {0%% 1} be a partition on [0,1], then the values of

L(p. f) and U(p. f) respectively are

[0,1] 0 f(x) = x OGS [0,1] [ ii }c‘beSaaérv &0T), &SR
L(p, f) DB U(p, £) DN AT
& A&
-
y 21
- 33

(98]
A
L | 12



2
W | b2
) | 12

Question Number : 67 Question Id : 5244763667 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Continuity on the set A imply uniform continuity on A, 1t
A DE D FITROD), A DE8S EITFA0HD HrDR
Options :
1. A s finite

A ©TE HOWSISE

2. A 1s bounded
A HBWS O

3. A s closed
A DR300

4. A 1s compact

A I 0TS

4.9



Question Number : 68 Question Id : 5244763668 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If © £ 1s differentiable at “ ¢’ then

2.8 F @I ¢’ I 23X0 oS

Options :
l. £ 1s monotonic at ¢

P 8 'C’ I JIrSE’ AT

1. ®
2. f 1s continuous at ¢
T O ‘¢ IO AB0SBOMT &OLVOD
2. ¥
3. f'is continuous at ¢
£ 9 ‘¢’ IQ AB0SBOMT GOLDOE
3. %
4. left hand derivative # Right hand derivative
D300 T &5 1) 0 # S0R T3 &850
4. %

Question Number : 69 Question Id : 5244763669 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Let f/ be a bounded real valued function defined on [a, b]

If p 1sarefinement of a partition p, then L[p*, f] 1s

[2, b] 30 DB D0DAS TVOS ErAS QD Densd DS D0d.S
7. DS p BNE) HOESD pOONS, L[p*, f]

Options :

l. <L(p.f)
1. ®

7 2U(p,D
2. %

3. ZL(p.f)
3.¢¥

4. 2UG*D
4, %

Question Number : 70 Question Id : 5244763670 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

“Every bounded sequence has a limit point™ 1s known as

“0E QBT (338 HANE DoY) HOLNOD" OIS .

Options :



1. Heine Borel theorem

S 3B DTT0S0

2. Rolle’s theorem

5S ABE) D00

montone COIIV&I'gEHt theorem

SFOESS 8355308 DT 040

ad

4. Bolzano weistrass theorem

5ES A T0 DFTTOS0

4.9

Question Number : 71 Question Id : 5244763671 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



If £ 1s continuous on the closed bounded interval [a, b] and 1f
Ffx)= -j'f(r)dr (a<x<bh)

§25 23°0B&% R0LBIS [ab] D f AB0SSOM &0T) SHOAS

F(x)= j f()dt (a<x<b) ©OONS
Options : n

| F®=fx

1. ®

5 H(x)= f(x)

F'(x) = f(x)

S

3.¢¥

4 F)-f(x)=0

Question Number : 72 Question Id : 5244763672 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Let f be a continuous real valued function on the closed bounded mterval [a,b]. If
f'(x)exist for all x 1n (a,b), then there exist some point

5§25 237°03& R0GBLS [ab] B £ AB0SE 7S Dewsd EOAS Hoi.S.
(a,b) S Q) x 850 &AES f/(x) &IOS, 258 FONOE
N

Options :

1 c(ab) with F&@#0

5 CE (a,b) with f'(c)#0
c & (a,b) with f'(c)=0

4 CE€ (a,b) with f'(c)=0

Question Number : 73 Question Id : 5244763673 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



1
sin—, x#0

The function f(x)= X 1S

DOE® f(x)=< x

Options :
1. continuous at x=0 only

x=0 Q) (5D ABOST OO OO

2. confinuous at every point of x

x A30EY (D3 20N S AB0SHTAHOM

3. not continuous at any point

2 DD T DB0SHBOMT SO

3.¢¥

4. none of the above

R 565



Question Number : 74 Question Id : 5244763674 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

; . e : <. iy . 2 1 .
The integrating factor of the differential equation —+ —y=——"——18
dx 1+x° (1+AQ)‘

©05%e> D80 L 2o 1 Rog) S0l 850 |

dx l+x° (1+A£)

Options :
]_- e{l—x‘}
1. #
2. G£x)
2. ¥
5 1
- 7
" 1+x°
3. %

4. log(L+x2)

Question Number : 75 Question Id : 5244763675 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The solution of the differential equation xyp* + p(3x> —2)°)—6xy =0 1s

93EOQ HNEB0 ap? + p(3x? —232) —6xy =0 A3NE), DOTY B0

Options :

l. (y-ex’)p*13x>—€)=0
1.V

2. x—a)x+3y-¢c)=0

(y—ex*)By+x—c)=0

4

4. x+cy)(y+3x-¢c)=0

Question Number : 76 Question Id : 5244763676 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The solution of the differential equation y=(x—a)p—p’ 1s

2958 HNEBL0 y=(x—a)p—p* RNE), DOX) B0

Options :




l. p=xeie’

2. y=x+c
2. %

-

3 y:(x—dk—cz
3.

4. y=(x—a)c+c
4. %

Question Number : 77 Question Id : 5244763677 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The solution of the differential equation (D° —4D+4)y=¢"" 1s

9X3EDS SWEBEI0 (D? —4D+4)y =e* ABNEY DOaX)B0

Options :
l. y=(exte Eh+ffh
] 1 2
1. ® 4
2
2 1f:cx+ajﬁx+ﬁ e
= 1 Fray .'j

2. ¢



g X .
3. y=(cx+cy)e” —Ee‘h

9
X 5

4. J-':(Clﬁ'—l-(?z)é’h— e

Question Number : 78 Question Id : 5244763678 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

. . : . . - S | .
The general solution of the differential equation ™ d ——e¢ ' =— reducible to
x x

linear form 1s

DES ErrO8 SNOBSAS SEOS HWEGe0 ¢ L Lo - L
X X X
ARANE), TP DO B0

Options :

_ o5 .
l. 2xe™ =—+c

2y 4
2. 2xe " +logx” =c



- -2

oy e d 2
3. e 'x"+logx” =c

4. 7 +losx=e

Question Number : 79 Question Id : 5244763679 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of the differential equation (2x” +2y)dx+(2x+ 3> )dy =0 is
2958 SEBEO (25 +2y)dx + (2x+ 32)dy =0 DINE), TS
MlonwXele

Options :
2x s 2 Y
. +y +x +—=c
3 3
1. ®
2 Ay e EpTeE
2. &
~ 3 3
3. 2x +6w+vy =c
3. i ’

4. ¥+y'=c



Question Number : 80 Question Id : 5244763680 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The solution of the differential equation y =2px+ p*x*.x>0& p = ? is
N
55033 DNEB0 y=2px+ p'¥x>08&p= j‘ FBnE), HEX), S0
%

Options :

1, }‘:2\/;4—52

1LY
p e 4
2. y=¢x +¢
2. % "
3. y=eax++c
3. %
g g
4. yx=x"+c
4. ®

Question Number : 81 Question Id : 5244763681 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



1 p dy

The solution of the differential equation tan™ p=x— — where p=— 18
1+ p~ dx
V. g)) -1 P d:“ g
@938 QadEBEIO tan™ p =x-r . where p = d ARBWE) D8axr) B0
+p AY
Options :

- l. y=1+p +c

Z2: Paprig=i

2. %
1
3. J-':—l —+C
a2
3. P
»
4. y= —+C
L l+p

Question Number : 82 Question Id : 5244763682 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The general solution of the differential equation (3')” +4xy'—4y =0 1s

2998 DEBI0 (') +4xy'— 4y =0 B3NE), DB DBIX) B0

| ®
2
c
2. y=cx+—
2.
o)
3. y=x +c
3. %

Question Number : 83 Question Id : 5244763683 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of the homogeneous linear differential equation
J!m e 2}’” . J’, . 2:': = 0 15
5232305 DS @583 HES0 3" +23"—3'—2y =0 30
PO 08 S0




Options :

1. y(x)=ce’ +ce”

X

2. YD) =cevrofroe
3. y(x)=¢ +ce +ce”

4. J(xX) =61 cErex

Question Number : 84 Question Id : 5244763684 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of the non-homogeneous linear differential equation

g J,-’ =sin3x 1S

T°S-023e30% BDAD ©9SES SEBD0 3" — 3 =sin3x 30,
SEael P lorvXele

Options :

l. y(x)=¢+ cze‘z"' + c3e_‘z"' +sm3x

x 2x 3x
2. y(x)=ce +c,e” +ce +cos3x



3. ¥X)=¢+c,e +c,e” +——-cos3x
3.¥

4. y(x)=ce +ce” +ce +——sin3x

Question Number : 85 Question Id : 5244763685 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of the differential equation x°y" —2x%y" +4xy' -4y =0 1s

2938 DWEB0O P 3" — 232" + 4y’ — 4y =0 B0EY, B

NlervyXele
Options :

1. y(x)=ce +(c, +cx)e™

2. y(x)=c¢x+(c, +c,logx)x’
3. y(x)=(c +c,x)e +c,

R 0t RS - 2x 2x
4. Wx)=ce *+ece +tce



Question Number : 86 Question Id : 5244763686 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of the system of linear differential equations
dx dy

.,.a

=-9y and —=—-4x 1s
dt dt

HEF @38 HNESeT S5 jr — 9y and j}r — 4y 330E),
P09 08X B0 .

Options :

-

. 6r 2 6t
2

1. y()=ce” +c,e ™ 1 x(t) =

2. y()=c+ot;x(t)=c,+c,e

3. Y =ce ree™ ;x(t)=c, vt

4. y(t)=c +ct;x(t)=ce +c,e”



Question Number : 87 Question Id : 5244763687 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The general solution of the system of linear differential equations

dx dy .
=x+2y and —=2x+y 1S
dt dt

HEY 5% HNESETe> 555 jf T T— j‘
r

SEael P lervdXele

Options :

=2x+y Q308

L. wf)=e +ei;xt)=6—c

2. )= c:*lej" +c,e ;x(t) = r:'l.93'r —Cy€
2.¢

- 2t

3. y(t)=c+ Cze‘” :xX(t) =—c,—c,e

4. y()=ce +c,e;x(t)=ce’ +c,e™

Question Number : 88 Question Id : 5244763688 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The Cartesian equation of the plane passing through the pomts (2.5.-3).(-2.

-2
|
(2
S’

ifid (59,-3) 18
(2,5,-3).(=2.-3.5) O (5,3.-3) TONO0E MNOTT I SO
B E), SRVONS dESE0

Options :

l. 2x—-3y+4z+32=0

2. Fxe=2Zybdzadl3 =0
3. 2x—-3y+4z+23=0

4, Ix—2y+9z2+ 320

Question Number : 89 Question Id : 5244763689 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The distance of a point (2.5.-3) from the plane 6x-3y+2z-4=0 1s

6x—3y+2z—4=0650 QO (2,5,-3) 2)0NQ) AP0
Options :

1. 1

1. %




2.
e 3. 3777
Lo 413

Question Number : 90 Question Id : 5244763690 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The Cartesian equation of the plane with intercepts 2, 3 and 4 on the x, y and
z-axis respectively 1S

X, y Q088 z-A58 YN DSBS 2, 3 OASW 4 WOST TS
S0 FBNE), SOVONS SNESe0

Options :

1. 2x+3y+4z—-1=0

2. dx=2yt+4z+12=10

3. 2x=3y=dz+1=0

4. 6x+4y+3z—-12=0



Question Number : 91 Question Id : 5244763691 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

: Xl
The angle between the line a) 1; =

, 23 .
%: 5 and the plane 10x+2y-11-=3 1s

x+l y z-3
a) ‘; N o B2 DO 10x+2y 11z =350 s €90 .

3 6
Options :
1 T
l. % 2
8
2. cos’! (—)
- o
. 8
3. sin’! (—)
21
3.
4. cost (1)
4. %

Question Number : 92 Question Id : 5244763692 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



X43 1 Z-5 ¥kl 3p—2 z-3

The value of 4 when the two lines : —”1 T L and 1 B

are coplanar 1s

) Bl A

| | 2 ;
QONB 1 DEND
Options :

L
1. ®

B
2. %

33
3. %
4. 4. -3

Question Number : 93 Question Id : 5244763693 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The shortest distance between the two lines

X—1 V-2 44 LB x—3 y—3

2 3 6 3
eoe3 éé\)grc‘é a\ylele!
Options :
V293
|
1. ¥ i
V293
3. —
V7
2. ®
293
3, —
3.8 7
4. /293

x—1 N y—2 _ -+4 "
2 3 6
"7 @0 BO B s



Question Number : 94 Question Id : 5244763694 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the sphere which passes through the four points (0.0,0),
(1.0,0). (0,1.0) and (0.0.1) 1s
PN AN 0D (0.0,0), (1,0,0), (0,1.0) B8 (0,0.1) 50T IT

S0 AB0E) SWEB0

Options :

l.x byt —x—yg—z=0
2.x°+y*+22-2x—2y-2z=0

3.5+ 2 2% 2y 22=0

Lx*+ty+ 2 +txty+tz=0

Question Number : 95 Question Id : 5244763695 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Angle of intersection of two spheres x>+’ +z°+6y +22+8=0 and
X +37+2° +6x+8y+42+20=0 is
x4+ y?+27+6y +2:+8=0 BN »? +y*+z°+6x+8y+4z+20=0 O

Bod Fgre oS 00

Options :

1. ©/6
1. ®

2. w4
2. %

3. w/3
3. %

4. 7/2
4.

Question Number : 96 Question Id : 5244763696 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the tangent plane at the point (1.2.3) to the sphere
3x" £33z 2% 3y—-42-22=0
3324312 4322 2x —3y—4:-22=0 B8 DocNY) (1.2.3) IS E3r0R 0
DS BwE) SS90




Options :

I. 2x+4y+T2—33 -0

1.¢¥

2. 3x+tey+9z—30=0

2. %

3. x+2v+7z+50=0
3% ;

4. dx+y++z-11=0
4. %

Question Number : 97 Question Id : 5244763697 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The angle between two planes 2x-y+z=6, x+y+2z=3 is
2X-y+z=6, x+y+2z=3 &2 BOCK hered> HPs oo
Options :

L = 1. —7/3

- 2. 27n/

Lad

3. w6
W

, 3
Lo 4. /3



Question Number : 98 Question Id : 5244763698 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The condition for orthogonality of two spheres
X4y 42 4 2ux+ 20+ 2wz +d =0, x" + y* + 22 + 2ux+ 2v,y+ 2wz +d, =0 is
X3+ 4+ 2+ 2w 2wz +d =0, X2+ 37 + 27 + 2ux+ 20,y + 2wz +d, =0 DOCD

Fore) 8T eS8 DSeh

Options :

| 2uv+2uw, +2ww, = d+d,

1. ®

o 2uv+2u, +2ww, =d —d,
2. %

3 2uuy +2vv +2ww, =d +d,
3.

j 7 7 JLk—= Sy

4 2uu +2v +2ww, =d —d,

4. %

Question Number : 99 Question Id : 5244763699 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



The equation of the right circular cone whose vertex 1s the origin, axis 1s OZ and
the semi-vertical angle « is

280 0Te0, @5 0 0Z DB DW-0>02 Eo o EDRS S0

S9TS TR B0E) DaEBe0
Options :
1 f+:w:}?cmzaf
1. %
o) . 2
X +y =z 1an o
2. ¥ 2
2 2 2 2
3 ViEZT =X "c0F &
3.8

2 2 2 2
4 y+I'=x1an o

Question Number : 100 Question Id : 5244763700 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

The equation of the cylinder which intersects the curve

x> +y°+ 27 =1, x+ y+z =1and whose generators are parallel to z-axis is
65@8%) x'+y' +z' =L x+y+z=1 &0 ED HHBAM A 33:68&3@__)
7-0 58 HXr0SS0mT 0B D0 ABNE) HNEB0




Options :

1 eyt ra—xpraz=0
g x* gyt —xry=xz=0

2 2
X" Fy-—wrxy—y=>0

ad

2 2 o
4 X +y —J_.~_1:1,-__:[]



